Chapter 6 Relevant Cost Concepts in Decision Making

Case 1

Question 1

(a)
Since there are only 30,000 machine hours available, and PBE Industries Ltd decides to produce M12 mini-motors first, the machine hours left will be used to produce M24 mini-motors.
	Machine hours available
	30,000

	Machine hours for M12
	16,000

	Machine hours for M24
	14,000

	No. of M24 produced
	5,600

	Requirements for M24
	11,000

	No. of M24 purchased
	5,400


The machine hours left are not sufficient to produce all 11,000 M24 mini-motors. PBE Industries Ltd needs to purchase 5,400 units from outside.
(b)

Based on the information given, the contribution per unit for M12 and M24 mini-motors are both $3.5.
	
	M12
	M24

	
	$
	$

	Sales price
	14
	14

	
	
	

	Direct material
	2.5
	4.0

	Direct labour
	5.0
	4.0

	Variable overhead
	3.0
	2.5

	Total variable cost
	10.5
	10.5

	
	
	

	Contribution
	3.5
	3.5


(c)
Since machine hours are limiting factors, the contribution per machine hour is calculated.

	
	M12
	M24

	
	$
	$

	Sales price
	14
	14

	
	
	

	Direct material
	2.5
	4.0

	Direct labour
	5.0
	4.0

	Variable overhead
	3.0
	2.5

	Total variable cost
	10.5
	10.5

	
	
	

	Contribution
	3.5
	3.5

	Contribution per machine hour
	3.5/2
	3.5/2.5

	
	1.75
	1.40


The contribution per machine hour is higher for M12 mini-motor. PBE Industries Ltd should produce M12 mini-motor first.

(d)

A value chain is defined as a series of activities in the manufacturing process from sourcing of materials to distribution of final products to the end customers. Product pass through all activities must gain value.

The value chain is divided into primary activities and support activities. Primary activities include inbound logistics, operations, outbound logistics, marketing and sales, and service.

Support activities include firm infrastructure, human resources management, technology and procurement.

(e)

To: Thomas Yan, Chairman

From: YYY, Chief Financial Analyst

Re: Attractiveness of M12 and M14 mini-motors

Date: ZZZZ

This memo briefs senior management on improving the attractiveness of M12 and M24 mini-motors.

On the financial side, our company may source low-cost material without giving up quality. This would reduce the material cost. Streamlining the manufacturing process may reduce the direct labour cost and the overheads. With reduced costs, competitiveness can be enhanced.
On the non-financial side, we may incorporate better design, durability and energy efficiency. In addition, improved customer service such as hotline handling, and detailed briefing to the customers in oral and written format. These contribute to attractiveness.

The above improvements may have cost implications and we may explore these further.

Best regards,

YYY

Chief Financial Analyst

Answer 2

(a)
The loss of the retail outlet is:

	
	$

	Revenue
	900,000

	Variable cost
	(300,000)

	Fixed cost
	(680,000)

	Corporate cost
	(150,000)

	Loss
	(230,000)


(b)

To decide if the outlet is closed, all relevant costs should be identified. Contribution margin of $600,000 is lost. Fixed cost of $544,000 ($680,000 × 80%) could be saved. Closure cost is $50,000. The allocated corporate overhead is irrelevant. The closure would lead to addition costs of $106,000. The conclusion is to keep the outlet.
	
	$

	Contribution margin
	(600,000)

	Fixed cost avoided
	544,000

	Closure cost
	(50,000)

	Incremental cost
	(106,000)


(c)

Management should consider qualitative factors as well in making decisions regarding the closure. Maintaining a retail outlet complements the supply chain and also serves as a marketing tool to customers.

In addition, the outlet is manned by disabled employees, and so maintaining the outlet would be a form of social responsibility.

(d)

Besides financial objective, shareholders of PBE Industries Ltd should consider performance in other areas such as customer service, operational efficiency, social responsibility and corporate governance. Good performance in these aspects imply sustainable development.
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Answer 5
(a)
Cost to make = incremental manufacturing cost and opportunity cost

= $[150 + 400 + 100 + (500,000 ÷ 4,000 units)]

= $775

(5 marks)

(b)
Make: Save $(800 – 775) × 4,000 = $100,000

The increment cost of producing the component ($775) is less than the price paid by buying externally ($800).


(4 marks)
(c)
Cost to make = incremental manufacturing cost and opportunity cost

= $650 + ($300,000 ÷ 4,000 units) + ($500,000 ÷ 4,000 units)

To make = $850

Buy: Save $(850 – 800) × 4,000 = $200,000


(5 marks)

(d)

Avoidable means that if the product line is discontinued, the avoidable costs will disappear. The variable costs associated with a product line are generally avoidable if that line is discontinued but fixed costs may not be avoidable.

Fixed costs for a product line may include salaries, advertising, utilities, depreciation, rent, insurance and general administrative expenses. Some of these costs are allocated portions of the company’s overhead expenses and thus are not avoidable. Depreciation is always a sunk costs and also not avoidable.


(6 marks)
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